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QID : 151 - Complete the sentence using appropriate option.

| IO this book since morning.
Options:

1) had been reading

2) has been reading

3) have had read

4) shall be reading

Correct Answer: 1) had been reading
Candidate Answer: 4) shall be reading

QID : 152 - Which tense is used to express an action going at some point in the
past?
Options:

1) Past indefinite tense



2) Past perfect continuous tense

3) Past continuous tense

4) Past imperfect continuous tense

Correct Answer: 3) Past continuous tense

Candidate Answer: 1) Past indefinite tense

QID : 153 - Complete the sentence using appropriate option.

You and I.......... . the obligations.
Options:

1) am fulfilled

2) has been fulfilling

3) have fulfilled

4) has fulfilled

Correct Answer: 3) have fulfilled
Candidate Answer: 1) am fulfilled

QID : 154 - Identify the tense used in the sentence.

"While he was in the military, he still regularly wrote to me."

Options:

1) Past indefinite tense

2) Past perfect tense

3) Present indefinite

4) Past perfect continuous tense

Correct Answer: 1) Past indefinite tense
Candidate Answer: 2) Past perfect tense



QID : 155 - Choose the future indefinite tense form of the given sentence.

"The parcel has been delivered."
Options:

1) The parcel had been delivered.

2) The parcel will be delivered.

3) The parcel was delivered.

4) The parcel would have been delivered.

Correct Answer: 2) The parcel will be delivered.
Candidate Answer: 1) The parcel had been delivered.

QID : 156 - ldentify the tense used in the given sentence.

"John met the officer in the evening."

Options:

1) Past continuous tense

2) Past perfect continuous tense

3) Past perfect tense

4) Past indefinite tense

Correct Answer: 4) Past indefinite tense

Candidate Answer: 4) Past indefinite tense

QID : 157 - Select the most appropriate option to change the sentence from
direct speech to indirect speech

The teacher said to the boy, "where do you live?"
The teacher ----- the boy where ---------

Options:

1) Told/you live



2) Asked/ he lived

3) Said/he lives

4) Ordered/ he lives

Correct Answer: 2) Asked/he lived
Candidate Answer: 2) Asked/ he lived

QID : 158 - Select the most appropriate option to change the sentence from
direct speech to indirect speech

Nishi said, "The exam is very difficult".
Nishi told that......very difficult.

Options:

1) The exam was

2) This exam is

3) My exam was

4) Your exams are

Correct Answer: 1) The exam was

Candidate Answer: 1) The exam was

QID : 159 - fa3er : N BT 31Q weeT F WEl/ T Suga IR a1l faehe Y gfag | gea:
TG W & g amaeas ¢ -

Options:

1) A T TN Gt BT ATEH et

2) TR T MTHT Jdd-Slea Bl e

3) T8 T B 1yt 3it ae | eaa-ved B et

4) =¢ aifer J 3rferes H& § HIY STQ

Correct Answer: 3) & NI <l 3riyut 3 Wae AFEN Gaa-vgd Hi e
Candidate Answer: 2) TR I \NT Jaq-sled BI Al



QID : 160 - weaT: "Hidar &1 va ffeia o7 €ia ¢, [ it feenfarai &t vgan wifee” -z&
HUT & IR H 3T AeTq & o

Options:

1) fas=it faar o1 oo fafga aref & e uean =nfeg

2) it et s st affy ufvdrer & € i wHg &

3) Ffa 9 Hfaar v 372 J o o9 &2 foamdt &1 wwgren onfeg

4) STETT-3TTT 312 TSI | Uga &I Ufesar aTfed gl €

Correct Answer: 2) It faameif stuar srya otz ufvaer # € wfaer wogtd &
Candidate Answer: 3) &fd 9 ®faar Ts 32 # feal f[SH & i # wrgEr =ity

QID : 161 - T&3r wTur T & He | Har 3116 # Ugd aiel o=d | gg 3rdferd & ok ag-
Options:

1) f&&t “ITaT & FETeRT 3fiR FiwiThal B ST Wb

2) fafie gt # St e &1 TTelt UaeT = T

3) ACTAYT HTHT 6T AT TIT R Th

4) T&3t e <t R fAaHTaet o1 ST b

Correct Answer: 2) fafie dgHi | &St W &1 Thralt Uit e T
Candidate Answer: 2) fafiet wg¥i | &St WTaT &1 TTet Uit o= |

QID : 162 - &8 vt Hwa-fawm & faw sifdard §-
Options:

1) TG WIIT-URAY hT ITTIAT

2) T&&t v <t feifera werem

3) WTHT hI T - 9 AT BT ITAIAT

4) \TST BT UTBT-YAH P ST

Correct Answer: 1) g HTNT-URAT P SUTAT
Candidate Answer: 1) g MTHT-URAT BT SUTSAT

QID : 163 - T’ g w1 wio-faeda &-



Options:

1) J+1

2) G+

3) WA

4) T+

Correct Answer: 3) HH+HTH
Candidate Answer: 3) JHH™

QID : 164 - fa3er - < 38 718 ueai & foiw wa S fawew &1 9ga HIfSg

T | ST 9 | $B HgT A1Y, IH Fad ¢
Options:

1) 3527

2) faug

3) fosam

4) T A B T

Correct Answer: 1) 3Jged
Candidate Answer: 2) faga

QID : 165 - Ue Iz E I’ | 5 FTet BT IgTEe0T 82
Options:

1) STl

2) qaTE

3) wfasaq &1

4) T A P TR

Correct Answer: 2) TdqE
Candidate Answer: 2) IddE



QID : 166 - =& : = ST 7T e T Ugh? IB 1T U= & Hel/Had SUGe ST dTed
fawea wt glaw|

AIZhATHAT eotl 3 Tgd Uidg FRIeahr 31 3 €t Yo Jfaat s=1d 41 @Pi 9 ger {3 sy
gl e Hfd A e od & | Igia el 9 § 7fd Bl TedT & | T8 Ffel af Ugel I & TR & o,
J oY FO IR FT WIeiq e ger f&am ot 7qfd uese €1 1|t faamedt @t sroer uRes e
B, W-9T9 B19 | HEG Heal o o187k BT BTH ¢ | 319 I8 W-HTF Fd 812 ARk T g 37 3-
ST TS | AT ST € o UesTer B Rt seed gl €, 9 Aus! REtE S €, 99 eAmr S
T g 9E T W, I N I A A SATAT| Tg A Ube BiaT §, T & W-UH Bid-BH Hdl
2| TH FRA-HRd f el BT ST & AT HdT § ad A B, FY ATe6, T BT yar Tetar
2| T-vri wU B Fed g8 S W W AW e giar ¢, T8 3 feren ¢ swfe fere < €
ST Wb, dfees 3igy | SIHRA il g 3z 39 ufthar # foreiss haet a1 | 7eg Tar g | 9
Uter % SipRa B |, TP UPfootd gl # WIUT 87 $B el e Fehd | WY 9Tge A WG-Tet
A, ToRTS AT, UehTer BT hawRT 3TfE PR Wehd ¢ |

3BT & ATHR TR HET ST TehdT g feb-
Options:

1) Feren Sam v 7E €

2) ferer faarea # fHerd &

3) ferem uftam & et &

4) forem AT TIT §

Correct Answer: 4) fagmgareas
Candidate Answer: 3) ferem uRar # ffedr 8

QID : 167 - =1ger : = fou 7T 1eig T Ugdhe IB T8 U= & Hel/ el SUgH St Tl
fawea wt glaw|

AIZHATHAT eotl 3 Tgd Uidg FRIeahr 3| 3 92t Yer Jfaat =1d 41 &@Pi 9 geT % sy
gl He Hfd A e od & | Igia el 9 § 7fd Hel TedT | T8 Ffel ol Ugel A & TR & o,
{4 91 Rk Teer 1 Wit e ger far oY Jfd uese € st | o farameft %t sruen ufmg e
B, -1 1 § HEg BT & TRIeies BT B ¢ | 31 98 W-TT9 FA 2I? Hedh ToT olige 37 3-




ST TS B 7T 1A € o Tester Y fher sreed gl €, 9% snue fomné S €, a9 mir s
T 9 T A, I N I H AE SATAT| Tg A UHe Bl §, T & W-UH Bid-BH Hdl
| FH BA-Td el BT ST § TTHAT HdT § ad AT B, AL 21fs, T BT UaT Tedell
2| T-vi w0 B wed gQ S W A e giar g, 7€t 3R feren 1 swfe fere < et
ST Wb, dfeds 3igy | SIHRA gl ¢ 3z 39 ufthar # frersd Fae a1ee | 7 Fear gl A
U PR B |, TP AP ooid 19 | WIUT &7 FB Tal B2 Wehd | W ITeR | JIG-UTl
AT, ToRTS AT, UehTer T hawRIT 3MfE &Y Wehd ¢ |

ferere &1 M 3-
Options:

1) faameif ®t =i | uRfEa s

2) faameff @t fawdi & uRfEa w=Er

3) faameif ®i feleu-wer | aRfEd FHren

4) faameif #t w@d J uRfEa wEr

Correct Answer: 4) Tazmeii &t a9 | aRfEd wEr
Candidate Answer: 4) faamii & wd ¥ uRkfEa war

QID : 168 - =& : = 3T 71T e T Ugh? IB 1T U=l & Hel/Had SUGe ST dTed
fa%eu ®r g

AIZBATHAT eotl & Tgd Uidg FRIeahr 3| 3 €t Yer Jfaat s=1d a1 &@Pi 9 ger 3 sy
gl e Hfd A g o & | Igia el 9 § 7fd Hel TedT & | T8 Ffel af Ugel I & TR & o,
A 91 Rk Teer o1 WTetq e ger far oY Jfd e € st | o farameft @t sruen ufmg e
B, -9 1 § Hg BT & TRIeie BT B ¢ | 319 98 -1 FA 8I? Hedh ToT oIgd 37 3-
ST TS B 7T Sirar € T UeeTer Y fher ateed gl €, 9 snue fomné S €, a9 miwr =i
T g 9E T H, I N I A A SATAT| g A UHE BT §, T & W-UH Bid-BH Bdl
£ | TH FPRA-HRd el BT ST & WTHAT HdT g a9 37 B, FY %6, T BT yar Tetar
2| T-vi wU B Bed g8 S T A WS e giar ¢, 7€ 39 feren 1 st fere < et
ST Wb, dfed 3igy | SIHRA gl ¢ 3z 39 ufthar # frarsd Fae a1ee | #eg Fear gl A
Uler % SipRa B9 |, TP UPfootd gl # WIUT 81 $B el e Fehd | WY 9Tge A WG-Tet
AT, ToRTS AT, UehTer T hawRT 3MfE HY Hehd ¢ |




"' T UG HEar el
Options:

1) &

2) e

3) =

4) Jreret

Correct Answer: 2) 2if%
Candidate Answer: 1) &4

QID : 169 - =tger : T 3T 1Y rgoig FT UgwHe IB 71T Yol & Tl /Haw IR IR aTe)
fawea ®t glaw|

AIZHATHAT eotl 3 Tgd Uidg FRIeahr 31 3 9t Yer Jfaat =rd 41 «@Pi 9 ger % sy
< g A e e 21 S e T A Y el AT £1 e A 4 e § @ TR o,
A 91 Rk Teer o1 WTerq e ger far oY Jfd vese € i1 o farameft @t sruen ufmg e
B, TG-S g1 § HEg BT &f 1oIeies BT B g | 3 98 -1 FA 8I? Hodh ToT oIgd 37 3-
ST TS B 7T Sirar € o TesTer Y fheor areed Bl €, 9% snue fomné 3 €, a9 miwr s
T g 9E I H, I N T H AGI SATAT| g A Uhe BT §, T & W-UH Bid-BH Hdl
| T BA-Td el BT ST § TTHAT Hdl § ad AT B, AL 21fes, T BT J @ Ial Tedell
2| T-vri % B wed gQ S W WS e giar g, 7€ 3R feren ) swfe fere < et
ST Wb, dfeds 3igy | IHRA gl ¢ 3z 39 ufthar # frarsd Fae 91w | #eg Fear gl A
Ui % PR B9 |, TP UPlooid Bl | JIUT 7 O T8l B Tohd | T TTge o HTG-UTell
&, TARTE Fea, WehTer Y HaRAT 3MTE Y Hhd ¢

'W' _
Options:

1) BT €T &
2) foeor gar ¢



3) AEF AT

4) TTATE gl &

Correct Answer: 2) faRoTgare
Candidate Answer: 3) 3ELTETE

QID : 170 - =3 : = 3T 77T =g FT Tgohs YB 7T U=l & Hel/ T Sugad S ared
fawmea ® gfaw|

AIZHATHAT eotl 3 Tgd Uidg FRIeadr 31 3 9t Yer Jfaat 9=1d 41 &@hi 9 ger 3 sy
gaelt Yeu i FA 7T d | I Ber b & Ffd Hel Tear g1 I8 Jfd of Ueet W & UeeR F 2t
J oY FO% IR FT Wleiq fear ger f&am ot 7qfd e €1 w1t faamedt @t sroer ufes e
B, T-9T9 B9 | HEG Pl ¢ forerh BT BH ¢ | 319 98 W-HTF Fd 812 ARk 5T AIgd 37 3-
ST AT § |1 Sirar € 1 vemter o fRot areed gt 8, a8 U fomd St ®, A eAwr i
T g I A, 3T N I A A SATAT| Ig A Uhe Bl &, T & T-UH Bied-BH Bdl
£ | TH FRA-Bed f el BT ST & WHHAT HdT § ad 327 %, FY A6, X BT Iar Totar
T | XT- WU FH Fed gQ Sl X AL WA A BT &, Tel 7ol T18TT 8 | gierg foret & <1
ST Wb, dfe 3igy | IHRA gt ¢ 3z 39 ufthar # fiares Fae 91w | 7 Fear gl A
Ul % SiHRa B |, THP UPlootd el # HIUT §H TO &l e Fbd | U] STee o Wg-Teil
AT, ToRTS AT, UehTer T hawRIT 31MfE He |ehd ¢ |

" It WeR qfdal 9ara | arer B ufadwor 8-
Options:

1) o€t

2) 9

3) Hfdar

4)3

Correct Answer: 4)
Candidate Answer: 1) ¥gt

QID : 171 - =itger : N T TS 3rTodg T Ugehe IB 31T URT & Tel/ T IuFeRT It a1
fawea wt glaw|



AIZHATHAT eotl & Tgd Uidg FRIeahr 31 3 9t Yer Jfaat =1d 41 @Pi 3 ger {3 sy
A<t Yeu fd FA 7T a1 S Ber b & 7fd Hel Tear g1 I Jfd of Uget A & U F 2t
J4 oY FO% IR FT WIeiq e ger f&am ot 7qfd uee €1 w1t it faamedt @t sroen uRes ure
B, T-9T9 219 | |G Heal ¢ fOrerh BT HH ¢ | 319 I8 W-HTF Fd 812 ARk I5T dIgP 37 3-
ST TS | WA STt ¢ s Urenter @Y faoT ateed gt €, 9 Ut g 3t B, 8 wwr S
T g I A, I N I H A SATAT| Tg A Uhe Bl §, T & T-UH Beied-BH Hdl
| T BA-Td el BT ST § TTHAT HdT § a9 AT U, AL 21fs, T BT J @ Ial Tedell
2| T-ui % B wed g8 S W WS e giar ¢, 7€ 3R feren 1 gwfe fere < et
ST Wb, dfees 3igy | SIHRA gl ¢ 3z 39 ufthar # fiares Fae 91w | #eg Fear gl A
e & SigpRa e #, 3% Uhleeid g9 A TWHT 50 $B T8l B Thd | WY 9Tee A WIg-UTet
34T, ToRTS AT, UehTer T hawRIT 3MfE &Y |ehd ¢ |

: "SPRA’ oreg B U §-

Options:

1) Ra

2)d

3) 3

a)sa

Correct Answer: 1) Ra
Candidate Answer: 4) ¥

QID : 172 - W3 T WIS IOt & | T e ¢ T a8 wae T9ig oie gl &6t st s 3
IE AU FU-GW b Y GH P GU-GW b 3R o 21 | 370 ¥ B Bighe gl b fed
BT T e e [Og Hear Aaadr 98 ¢ | 'wRiEd & Hed Jiaddr ¢ | J8r e v g
HST 3Tt &THAT AT WA & AR WRIEd ¢ HbaT ¢ | T8 7 |, U | I1 a1 A 372aT el
A IR Y HEATS e TBaT & | I b Ul wredt HeTifd v +ff wefed €1 foelt 3t diwe @
ST, feett Bt AT | gereT, ol guit aiie forrer wafts &t wicaan oo it wigd & € sidsia
3MTAT € | SPTaTe ¥ o AY-Ffeal Bl quar & 9TUT STela diel &AL BT HeR har| $31 7ilg
o TR BT ST T, THTE 30T T TATT-TATE TR FQ, ATATS TS FGATHR STl BT IUHTR
forar | ZE weraar &1 vE U B




T[S T e g -
Options:

1) 9 W T it Rl & i s g

2) it 1 T T

3) Wt Afaes foawi &1 urer &

4) o=t = got 9 He

Correct Answer: 1) 9 w3 TG 3fiv goi &t it S 3
Candidate Answer: 1) 98 @3 fSIQ oit ¥Rl ®1 W S 3

QID : 173 - A~ TF WHITeies 0T €1 ST v § T a8 o fg ofie gunt &t st s 31
IE IR U-GW b Y GHR| P GU-GW b 3R+ 21 | 370 ¥ Bl Bighe sl &b fed
B o ff Wi | 37e @ g e Areaar w8l €1 wRied € Hedl Aiedar ¢ | g8 oA uH £
TS 3Tt &THT T WA & AR WRIEd ¢ HbaT & | T8 7 |, U T a1 a1 A 372ar el
A g Bl TATE TR TRAT ¢ | QERI b UTd Fod! Helifd w5 i wiga g | foelt &t dwe |
e, Tt o1 AT | gereT, foset gt aite femrer =afts &t Wican Sar i wiga & & siwvia
3MTAT € | SPTaTe ¥ o ShY-feal Bl quar & 9TUT STela diel I&RA1 BT HeR [aT| $31 7ilg
o FRT BT IAT TohaT, THE RME o TATT-TATT TR FC, AT IATfG FGATHE STadl BT IUBR
fosam | Z@Y Areear &1 e v R

AT el ¢

Options:

1) T BT B YEATET

2) GER| I AT W T&1 el

3) g s g Fen

4) R & GH-gW Bl AR A 9 g

Correct Answer: 3) 3Uar ¥ &g Fean
Candidate Answer: 3) 379t a1 &g &t



QID :184 - 7,500 is borrowed at C.l. at the rate of 2% for the first year, 4%
for the second year, and 5% for the third year. The amount to the paid after 3
years will be

C.l. W 7,500 U3 IHR o1 314 €| Ut a9 & T 2%, g3 a8 & feiw 4% i e a9
& g 5% BT R A1 3 T4 & 1 WFTATA Bl ST dTeit wrel ehit

Options:

1) 8235.00
8235 vud

2) 8432.00
8432 ¥ud

3) 8520.20
8520.2 ¥ud
4) 8353.80
8353.8 Ug

Correct Answer: 4) 8353.80
8353.8 ¥ud

Candidate Answer: 2) 8432.00
8432 vud

QID : 185 - The product of two numbers is 9375 and the quotient, when the
larger one is divided by the smaller, is 15. The sum of the number is:

3t A3t BT IOTEhA 9375 B 31N ISt WEAT Bl Bl WA | e nfSia e R e 15
3TTAT £ | HSAT BT AT &
Options:

1) 395

2) 380



3) 400

4) 425
Correct Answer: 3) 400
Candidate Answer: 1) 395

QID : 186 - The cube root of .000216 is:

.000216 FT T &
Options:

1) .6
2) .06
3) 77

4) 87
Correct Answer: 2) .06
Candidate Answer: 2) .06

QID : 187 - Which one of the following States of India has international
boundary on its three sides?

Rd & faafafed # 9 5w v & d9 T iawrs T &2
Options:

1) Assam
HHH

2) Nagaland
aArTes

3) Tripura



forgar

4) West Bengal

RIEEERIE]

Correct Answer: 3) Tripura

frger

Candidate Answer: 4) West Bengal
afgH e

QID : 188 - Which states of India has borders with three countries namely
Nepal Bhutan and China ?

TR & e I Y TAT e ol AuTed, 2T 3ii e | ohTdt 82
Options:

1) Arunachal Pradesh

ST UGl

2) Meghalaya

LRICD]

3) West Bengal

afgie STt

4) Sikkim

fafesn

Correct Answer: 4) Sikkim
fafesn

Candidate Answer: 3) West Bengal
afge STl

QID : 189 - Which Union Ministry is associated with the draft ‘Sagarmala
Innovation and Start-up Policy’?

BT AT BT HAAT APRATAT TATIRIT UE W37 UiTerdl & FH1S A ST 62



Options:

1) Ministry of Power

faga warea

2) Ministry of Ports, Shipping and Waterways

G, STERTE! 3R STAHE! Holled

3) Ministry of Coal

BIIAT AT

4) Ministry of Steel

T HATAT

Correct Answer: 2) Ministry of Ports, Shipping and Waterways
Candidate Answer: 2) Ministry of Ports, Shipping and Waterways

QID : 190 - Who wrote the book Tamas?

T Y fooael Teiwit?
Options:

1) Prem Chand

YT

2) Amrita Pritam

31T WaH

3) Bhishm Sahni

freT Wt

4) Vikram Seth

faspa A

Correct Answer: 3) Bhishm Sahni

ey Tget

Candidate Answer: 2) Amrita Pritam

STAT it



QID : 191 - Who was the author of the Hindi novel “Maila Anchal”?

&3 Iu=am "Hetr ST WD B A2
Options:

1) Ramdhari Singh Dinkar
Rt g ae
2) Nagarjun

AT

3) Bhikhari Thakur

Pram arge

4) Phanishwar Nath ‘Renu’

WU TERATY 0]

Correct Answer: 4) Phanishwar Nath ‘Renu’
WUITERATY 0]

Candidate Answer: 4) Phanishwar Nath ‘Renu’
GUITYRATY o]

QID : 192 - In which year, the first modern National Games of India, on the
lines of the Olympics, were held?

iU I de1 IR HIRA b UAH ATYfAE ASIT W foodd 9 Tifeid fobd 51 42
Options:

1) 1970
2) 1979
3) 1985

4) 1987



Correct Answer: 3) 1985
Candidate Answer: 3) 1985

QID : 193 - Term Chinaman is related to which sports ?

gt Ueg bt TeT W Heiftia 82
Options:

1) Football

el
2) Hockey

glehl

3) Golf
Me®

4) Cricket
fopdse

Correct Answer: 4) Cricket

B

Candidate Answer: 3) Golf
Tie®

QID : 194 - Bihar comprises 38 districts organized into how many
administrative divisions?

foEr & 38 [Sie onfiet € it fopaa wermafas i # fanfsia 2
Options:

1) 10
2) 9

3)8



4) 7
Correct Answer: 2) 9
Candidate Answer: 2) 9

QID : 195 - A progressive classroom is

T WTTaeiel Het
Options:

1) Examination-centric

TRteTT- Sfesd gl ¢

2) Textbook-centric
UIEATEAR-hleed el €
3) Teacher-centric

foterr-bfd gl g

4) Learner-centric

ferameii- g €t &

Correct Answer: 4) Learner-centric
ferameif-Sfea gt &

Candidate Answer: 4) Learner-centric

ferameit-Sfega €t ¢

QID : 196 - Renu is a counsellor at a school. Which intelligence should she
have to be an effective counsellor as per Howard Gardner's theory?

¥ o aera & wRrelerar €1 grad e ¥ fhgia % TR e wreierr % w9 §
TP U Bia-H gig gt Tieg ?

Options:

1) Linguistic

TS



2) Spatial

eI

3) Interpersonal

IR (Siddihed)

4) Intrapersonal

3iq:date®

Correct Answer: 3) Interpersonal
TR (adithe)

Candidate Answer: 1) Linguistic

TS

QID : 197 - According to NEP 2020 which language should a teacher use for
interacting with primary school children during the teaching-learning
process?

e e <fifd 2020 F AR, TF ferers i fergror-ifernT ufthar & e Ul Wpa
& TN | HUYYT b TAQ ToheT 9TST T YT HBRaT AT ?

Options:

1) Only the regional language

HaeT ST HTHT BT

2) Only Hindi language

Haet TE=t AT BT

3) Only English language

HI ST T BT

4) Mothe tongue of the children

41 bl |G ST BT

Correct Answer: 4) Mothe tongue of the children
41 Bl AT ST BT

Candidate Answer: 4) Mothe tongue of the children
41 Bl ATG ST BT



QID : 198 - Which of the following is an effective method to enhance problem-
solving skills in children?

T A HHAAT-HHATHT BT P g1 &b g fSafeifad # | B Ia-|1 I a9l 82
Options:

1) Giving them opportunities to brainstorm and make intuitive guesses

3¢ Yig AT TRl 371R W SAFAE oI & SaHL Sl

2) Providing them with ready-made solutions to problems

Ieg AARAT3IT BT TAR TATETT ST TR

3) Discouraging independent thinking and focusing on declarative knowledge
A e BT galcTed BT MR TNTUTE AT R LA Bigd B

4) Encouraging them to avoid difficult problems

i THEATST | 799 F g IR vicaTied Hwar

Correct Answer: 1) Giving them opportunities to brainstorm and make

intuitive guesses
3¢ gig HUT e 3R WeST ST o b 31T Sl

Candidate Answer: 1) Giving them opportunities to brainstorm and make

intuitive guesses

3¢ gig HUT e 3R WeST TS o b 3[R Sl

QID : 199 - While------ agencies of socialisation are predominantly important
in infancy,------ agencies of socialization also become important in early
childhood.

SterareaT H THTSIR0T Bl --——--——---—-~ TXATE U Y H Hegeayo! &, T TR
TTCITEAT H TATSIHROT Bl ———— === === === TS ff FEwaqol & S & |

Options:

1) secondary; tertiary
ATAAE; d1aw

2) secondary; primary



A HE; urAfHE

3) tertiary; secondary

qda®; ATAH S

4) primary; secondary

191121 &= G e 11573 E= )

Correct Answer: 4) primary; secondary
191121 &= G R 1173 E= )

Candidate Answer: 4) primary; secondary

191121 &= G R 11573 = )
QID : 200 - The theory of multiple intelligence says that-

TehITEeh YfgaTe o1 fagid ®ear ¢ fb ---

Options:

1) intelligence can be rapidly accelerated

f et 9 TS A

2) intelligence can be of several kinds

e B¢ UHR B & bl §

3) paper-pencil tests are not helpful

que- Ui T4 WETa® Rl ¢

4) intelligence can be multiplied with effective pedagogy
T ST & GRT gig 98TE T Hebell &

Correct Answer: 2) intelligence can be of several kinds
e B¢ UHR B & bl §

Candidate Answer: 2) intelligence can be of several kinds

g € UBR B A ThAl ¢
QID : 201 - The famous slogan of the French Revolution was:

TRIRAI! Thifd T g TR 2T



Options:

1) Liberty, Equality, Fraternity

FIASIAT, AT, HTSRT

2) No Taxation without Representation
yfdfafee & faem wig wrume @

3) E Pluribus Unum

34% W A Th

4) Give me liberty or give me death

T AT Gt a1 Hia &

Correct Answer: 1) Liberty, Equality, Fraternity
TIASIAT, AT, HTERT

Candidate Answer: 1) Liberty, Equality, Fraternity
FIASIAT, AT, HTERT

QID : 202 - Which one of the following statements is true about elections?

TAT9 & IR | afefed § | B 91 wAa qd 82
Options:

1) Elections guarantee good governance.

AT FRITH T TR 3§

2) Elections ensure economic development.

g 3nfeles b giafda wed g1

3) Elections allow people to choose their representatives.

AT AR BT ST Ufafafer g By rgafd 3d §

4) Elections eliminate corruption.

TATT A YR T T g |

Correct Answer: 3) Elections allow people to choose their representatives.
ST ST Y ST TR e B orgf 3

Candidate Answer: 3) Elections allow people to choose their representatives.

AT W1 Y U UfAfA T s @Y Al 34 &



QID : 203 - In the period of proto-industrialization, production was carried
at?

ATT- 3NN TIRIHOT & HTel | IS Bal 1HAT STTaT 2AT?
Options:

1) Countryside

BT

2) Town

[EC]

3) Bothaand b

3BT 3R 2rea gt

4) None

T A PIE TE

Correct Answer: 3) Bothaandb
3BT 3R 2rea gt

Candidate Answer: 3) Bothaandb
3BT 3R 2rea gt

QID : 204 - The Indian Standard Time is ahead of Greenwich Mean Time by
how many hours?

TRAIT AP T8 Aafaw Wi 2r2q | fbad e 3w §2
Options:

1) 4 hrs 45 mins
4 He 45 e
2) 5 hrs 30 mins
5 &¢ 30 fe
3) 6 hrs 15 mins
6 6 15 fAae



Options:

1) 0.4

0.4

2) 0.24

0.24

3) 0.16

0.16

4) 0.04

0.04

Correct Answer: 3) 0.16
0.16

Candidate Answer: 2) 0.24
0.24

QID : 250 - Which one of the following 3D shapes does not have a vertex ?

faafeifad 3D anelaal & A fead i T dar e 2
Options:

1) Pyramid
LRI

2) Prism
o

3) Cone
AP

4) Sphere
et

Correct Answer: 4) Sphere
HICH

Candidate Answer: 4) Sphere
QIc



QID : 251 - A system which is based on blood affinity relationship is called

TE T Y o WY STl UR SR gt 8, HeeTd 8
Options:

1) Family

aRer

2) Gotra

HIE]

3) Kinship

feedgrY

4) Joint family

U URaR

Correct Answer: 3) Kinship
TeedgRY

Candidate Answer: 3) Kinship
feedgrY

QID : 252 - Which one of the following statements is incorrect regarding work
and play?

BT 3R W b Aoy | [Safeifed 3 & Pie AT BT ToAd 82
Options:

1) It improves learning capacity in child

% o A T B e H R FT

2) It arouses curiosity in child

Ig =3 H TS eI §

3) It leads to development of physically healthy child
T AIRE U | W 9 B e At e



4) Child can become stubborn

T {SE) 2 Wbt §

Correct Answer: 4) Child can become stubborn
T ot & et ¢

Candidate Answer: 3) It leads to development of physically healthy child
T AT U A W 9 B e aar e

QID : 253 - What is the basic unit of society?

TS Y A SHTS T &2
Options:

1) Men
ki)

2) Women
LIEEI

3) Children
Cic|

4) Family
gfear

Correct Answer: 4) Family

gRar

Candidate Answer: 4) Family
gfear

QID : 254 - Individualistic family pattern is fastly increasing because of the
following

femfafEd wrel | @t wRaie ted a5 @ 95 =T 8
Options:

1) Westernization



gfgeERoT

2) Imagination of free lifestyle

6 STIge Stell Pl e

3) Population explosion and inflation

St faemie 3ite qgranifa

4) Both Westernization and imagination of free lifestyle

ufgrtereoT 3iiR o SHaadtell Bl heder

Correct Answer: 4) Both Westernization and imagination of free lifestyle

ufgrtereoT 3iiR o SHaadtel Bl weder

Candidate Answer: 4) Both Westernization and imagination of free lifestyle

ufgrtereoT 3iiv o Saadtell Bl heder

QID : 255 - Mayank tells his friend that his family is headed by his mother,
though his father is alive and they are residing at his mother’s ancestral
house. His family is an example of

TG 3T ST B! IATdT ¢ Tob I TRAR BT TG B! AT &, STl IHP UaT Siifad &
3R & I T & S TR H Ve €| IABT URAR THBT IGTE0T &

Options:

1) patrilocal family
fOqeea aRar

2) matrilocal family
AT T

3) conjugal family

(AL [ R ERI

4) consanguineous family

TSATAG URaR

Correct Answer: 2) matrilocal family
HIGEATE T T
Candidate Answer: 2) matrilocal family

AT T



QID : 256 - Which of these are outdoor games?

TR A BT o ISR T 82
Options:

1) Football

o

st
2) Hockey

e

3) Table tennis

e e

4) Both Football and Hockey

BeaT 3t gl

Correct Answer: 4) Both Football and Hockey
eaTe St gl

Candidate Answer: 4) Both Football and Hockey
Fedicl 3R BTt

QID : 257 - Which of the following games was played by your grandfather but
children usually don’t play them today?

afefEd & | Bl A1 Bt AU IIEET S Vel AT A b TS I3 AR TR I qel Weld
&2

Options:

1) Volleyball
P

2) Basketball

STEhedTe

3) Kabaddi

HAE



4) Cricket

febehe

Correct Answer: 3) Kabaddi
FAEN

Candidate Answer: 3) Kabaddi
HEN

T VoTd T ITge L. . ... ... 35 AT W EAar e
Options:

1) Underground

T

2) Outside

e

3) In side

Hegr

4) In Air

gar i

Correct Answer: 2) Outside
T

Candidate Answer: 3) In side
AR

QID : 259 - Amit was asked to pair one outdoor and one indoor activity. He
made four pairs, but he made one incorrect pair. Select the INCORRECT pair.

3T Bl Th ATICER 3R Teh TSR fafa el bl Sl & feIQ BT 37147 AT 99 9N SiS 941%,
Hihel T i SIIST 9T | STeld SISl &l Iae & |
Options:



1) Ludo and Carrom

T2t i e

2) Badminton and Table tennis
Jefiiea site gaa efaw

3) Football and Chess

FeaTel 3R AravsT

4) Both A and B

gt

Correct Answer: 4) Both A and B
gt

Candidate Answer: 1) Ludo and Carrom

o2 8t o

QID : 260 - What do we call a person who reports news on TV, radio or
Newspaper?

TH 39 Afth B T FHad & St 2, 2T a1 TR U R TR RuiE & 82
Options:

1) Journalist

AP

2) Teacher

fergr

3) Manager

TR

4) Business Person

farsta w™ia

Correct Answer: 1) Journalist
AP

Candidate Answer: 1) Journalist
UAPhIR



QID : 261 - What do you understand by the following figure.

fufafEa G & ena war @ 82
Options:

1) You should take basketball along with you to your work, so that you can
play in free time.

MIBT ST HTH TR GTheaie 31U |1 o STl A1(8T, d1feh 3T JTell 99T | Wl | |
2) Both Work and play should be a part of your life.

BT 31T Ve il ST STiaa o1 fZzan g feg |

3) We should do both work and play together.

T4 B 31T VAT il T WY el AMET |

4) Playing is the most important work.

VAT FIH FEeago! HE g

Correct Answer: 2) Both Work and play should be a part of your life.

BT 31T Ve GieAl TP STiaa BT fEzn g ieg |

Candidate Answer: 2) Both Work and play should be a part of your life.
BT 31T Ve il MU STia= BT fEer g ieg |

QID : 262 - For some people, playing is actually work. Below are some names
of famous people, Pick the name whose work is actually playing.

FB RN & foQ WA Iad A B ¢ | 1 F& Ulag il & a1 3e e €, ag awr g4
ST & aaa # W wrall

Options:

1) Ajeet Yogi
Sitd iy

2) Virat Kohli
farTe Fgat

3) Bachendri Pal
CECARIC]



3T

3) Legumes

LIl

4) Cheese

REIN

Correct Answer: 3) Legumes
LIl

Candidate Answer: 3) Legumes

parcell
QID : 282 - Which of the following is not a component of food?

ferafafEm & 3 % | i &1 ues T8 §2
Options:

1) Fats

qAT

2) Fibres

wTER

3) Water

qrat

4) None of these

T A PIE TE

Correct Answer: 4) None of these
T A BIE TE

Candidate Answer: 3) Water
qrat

QID : 283 - Adulteration occurs at what point in the process?

sifiean 8 ey fifg e e @t 32



Options:

1) Producer

CLiGH

2) Distributor

faaes

3) Retailer

et fagkar

4) All of these

aait

Correct Answer: 4) All of these
aadt

Candidate Answer: 4) All of these
adt

QID : 284 - Choose the odd one out of the given options below.

4 o T e & & Ssite Reea 93|
Options:

1) Gold

et

2) Silve

aid

3) Diamond

e

4) Plastic

AT

Correct Answer: 4) Plastic
AT

Candidate Answer: 4) Plastic
AT



QID : 285 - Which one of the following is insoluble in water?

FFafatea 3 3 w9 | uret § srgeaiie 82
Options:

1) Alcohol

IR

2) Sodium chloride

Hifeaw FARISS

3) Coconut oil

AT BT del

4) Sugar

Sicl)

Correct Answer: 3) Coconut oil

ATRIA BT det

Candidate Answer: 2) Sodium chloride

HifSqH FARIeS
QID : 286 - Materials around us can be classified into

THIN ATRA-TTH Y WA Bl b BT ST FhdT &
Options:

1) Elements and compounds
ac 3fiR Aifie

2) Metals and non-metals
uTq 32 31uTg

3) Acids and bases

I 3R &R

4) None of these.

T | BIg TE



Correct Answer: 2) Metals and non-metals

uTq 3R 3Tg

Candidate Answer: 2) Metals and non-metals

YT 3R 37Uty

QID : 287 - The process of breathing of living organisms is called ?

Siifed Siel & Hid i BT Ufhar &l T ST 82
Options:

1) Respiration

qad

2) Photosynthesis

TehTel HEATOT

3) Stimuli

EAECH)

4) Excretion

IS

Correct Answer: 1) Respiration
qqd

Candidate Answer: 1) Respiration
a4

QID : 288 - The plants make their own food by the process of ?

WY ST ST Y st g1 ¥d q4Td £7
Options:

1) Respiration
qaq

2) Photosynthesis
TehTel HATOT



